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TNENS BhIEt:
£ 9o HAE YWD 2 48 XS 42 LIFS 1ol int auosren. Flag:
S1F LIHX|E 230N . scanf("%d",&s);
12|71 £ 47t HEe] BAIKE (K2 4o HZo| 2 scanf("%d" &h);
ot Z2X|) ZoIM . if(s > b){
o MlEQ 2 : a2l &2t b7t 2S5 s = b;
AEH oflA|
SR
OlAlT 2 Quotient : 2 else
4 Remainder: 0 flag = 0;
2 squared is 4 printf("Quotient : %d\n",quot);
printf(“Remainder : %d\n",rem);
GAl2 8 Quotient : 2 if(flag)
rintf("%d squared is %d\n",s,b);
3 Remainder: 2 P ( g );
else
3 squared is not 8 printf("%d squared is not %d\n",s,b);

return 0;
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n!(Factorial) A4St T2 S OLSHENM|IR int main()
{
o 2A9| M n(n <=12)2 LHLEHLICE

e nl=(n) x(n-1) x (n-2) .... x (1)

int num,res=1;
scanf("%d" ,&num) ;

printf("%d",num);

while(1){
ol 5 res = res = num;
num--;
if (num <= 0)
£ b5*x4*x3*x2%1=120 break:

printf(" * %d",num);
}
printf(" = %d\n",res);
return 0;
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b=
int cnt=0;
char c;
while(1){
: scanf(" %c"|,&c);
> iTflcl==—=7 1
F printf("%d\n",++cnt);
W break;
- }
, cnt++;
}
5 printf("End\n");

return 0;

End




int main()

{

=2:

int num,even
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return 0;
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X
« for®, %(modulo) AHE

of| x| 1
oy 7
& 7 is a odd number
7 is a 1-digit number
7 is a prime number
il 2
e 15245424
£ 15245424 is a even number

15245424 is a 8-digit number

15245424 is not a prime number

int main()

{

printf("%d is a odd number\n",num);

t++;

10;
printf("%d is a %d-digit number\n",num,digit);
if(num == 1)

for(int i=2;i*i<num;i++){
ifC num %

if(flag)
printf(“%d is not a prime number\n",num);

is a prime number\n",num);
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Up & Down AIS CHSO{ZAICH

o ZEE{7}0 <= X < 31 Al0|2] 2I2|2| XIS B}L}
NESEIEIE S
o ALEXIOIA| 52| 7|2|S F11 2t 7| 2|00t SHLte|

ZALE YHASL T

o U2Ht2 2Xtet B H|wdiA Up, Down &
SHLIE &=Lt

o B2 QHMO™ SuccessE Estn HE1,
HoiZl sl=0f| ZLIX| S4US B Faill2
EgL|CH

o Qolo| £X}t= F0{Tl ZE2| “random_value”S
AFSEL|Ct

int main()

int random_value = rand() % 31;

int num;

for(int i=0;i<5;i++){

scanf ("%d" ,&num) ;

if(num == random_value) {
printf("“Success\n");

}

return 0;

}

else if(num < random_value)
printf("Up\n™);

else
printf("Down\n");

printf("Fail\n");
return 0;
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S e int main()
UHEOt 3T+ =2 HESI E85H= (

int num,divd=1,quot,flag = 0;
for(int 1=0;i<19;i++)

O E0{QE At 2R “2,147,483,647" divd *= 3;
scanf("%d",&num) ;
< 2,147,483,647 < 320 RSN 8 2 L S e HReR
! ! ! quot = num / divd;
if(flag == 0 && quot != 0){
flag = 1;
}
if(flag){
printf("%d",quot);
num = num % divd;
198372895 }
divd /= 3;
}
111211021101110021 ARl e i

return 0;




o Z 2 int main() if (currency == 'Y")

{ {

ATDZIHS ZMSEHMNK. money = money / 10;

int money, cn

{

o SHHTH ZOH(THe|: @l 2o Ha)S ™o cnt = money / 5
g ar currency, run; - -
AL W money = money
N o = N printf("5000 2!
. f._“.‘i CHAt %ff(chaj)g Yoz t.':*g'-“:f;ol i, printf(" &
SHHCH A Satel dlist(Y)2t E2{(D)E Helst cnt = money /
olzio Bl -
fn—u_TM" L|ct printf(" st & money = money
o SHHAOf CHY S3te| XAt T ECE &2 flg, pi printf("2000¢2!
scanf("%d",
FH0| F=Z 2 HELICH (=22 HZfL|C}) .
o A0 BRI7HES XHS fHxoz P SE S () 4 3l
MENSH printf("ed ) . : , : money = money
s
WEARILIE, while(1) printf("1000 2!
o 2 It S5k distet @2{o|H, 2k2to| stent
X|HEte| = ofeet Z&L|Ct. o o 5
IBIEHF= Oteeh datIct scanf(" %c", &currency); oney,
money = money
e S printf("5002
EE) (2+2 :13008) if(currency == 'Y")
i if (currency
#3ks A 100 Ceurnencys ==Si05)
money = money /
502
1023 cnt = money / 100
money = money -
s Y y

printf("100E

cnt = money / 50;
(2= :108) money = money - cnt
printf("50& &

2
ot

eH7ts X 500091

money /
2000 money = money - cnt *
100081l printf("10& &
500¢

cnt = money / 5;
money = money - cnt *
printf("5& 21 '
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Compile Error / Warning Message

o ElicediAM &rdist= ofl2{ef A1 MAX[E BHgtE W F&sHK] 2
o MA|IX[S ZHEtS| 2 SjOlEH s Z 2| dote|7}t S = UgH

o FIES| stEHO| Sa|HLE
o BHEFE #EalE A .

C Compiler
o MA=|X| k2 M AL S

= Syntax of the language

* Rules for putting words and punctuation to make correct statements

= Compiler
* A program that checks on the legality of C code
* If errors, compilers prints error messages and stops
* If NO errors, compiler translates the C code into object code

4190.103A-001: Programming Practice | Spring 2023 | Jin-Soo Kim (jinsoo.kim@snu.ac.kr)
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Debugging
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=2| HLHAH(logical operator)



=2 H &AL &4, |, !

il

14

2

@)

H

M ZHX] SF7F A5 C.
and & AAE &&

AN

=]

—

ot zol

I}

'I—OEI

PN
=

25

(@)

)

Z not AR} |

o

g 20 Q V] (& <« Dl D> q D <)
esc e £ fa s s C fe 3 F10 e Fi2

~ ! @ # $ % A & * ) +
w 1 2 3 4 5 6 7 8 0 = |

| P { } |
| [ 1 \

#® A%
command Jif option

T

G

9 A S F H J) K L
#/A o L = 5 L 1 [¢ | a
B

pE——————
fn
& control

\

z X N M < > g
3 E X o T = ' . /

©

i Q= Wl Eff m RIq M T Y U | El
= =] X = gL A Sk :‘ F ‘{

19



=2 A LA} &&, |, !

#include<stdio.h>
#include<stdbool.h>

int main(){

bool flag = (6 > 3) && (5 < 3);
printf("%d\n",flag);

printf(flag ? "true\n" : "false\n");
printf("%s\n",flag ? "true" : "false");

return 0;

else

printf("true\n");

printf("false\n");
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=2 A LA} &&, |, !

bool flag = (6 > 3)
printf("%d\n",flag);

printf(flag ? "true\n" : "false\n");
printf("%s\n",6flag ? "true" : "false");
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=2 A LA} &&, |, !

L| Ct.
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printf("%d\n",!flag);

“true\n" "false\n");
“true”

printf(“%s\n",/!flag ?

printf(!flag ?
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=X} (character)



ASCII

dec
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oct
000
001
002
003
004
005
006
007
010
011
012
013
014
015
016
017
020
021
022
023
024
025
026
027
030
031
032
033
034
035
036
037

char
NULL
SOH
STX
ETX
EOT
ENQ
ACK
BEL

SO
Sl
DLE
DC1
DC2
DC3

NAK
SYN

CAN
EM
SuB
ESC

GS
RS
us

dec
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63

hex
20
21
22
23
24
25
26
27
28
29
2a
2b
2c
2d
2e
2f
30
31
32
33
34
35
36
37
38
39
3a
3b
3c
3d
3e
3f

oct
040
041
042
043
044
045
046
047
050
051
052
053
054
055
056
057
060
061
062
063
064
065
066
067
070
071
072
073
074
075
076
077
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dec hex oct char dec hex oct char
64 40 100 @ 96 60 140 )
65 41 101 A 97 61 141 a
66 42 102 B 98 (2 1327 b
67 43 103 C 99 63 143 c
68 44 104 D 100 64 144 d
69 45 105 E 101 65 145 e
70 46 106 F 102 66 146 £
71 a7 107 G 103 67 147 g
72 48 110 H 104 68 150 h
73 49 111 | 105 69 151 i
74 4a 112 J 106 6a 152 j
75 4b 113 K 107 6b 153 k
76 4¢ 114 L 108 6¢ 154 I
77 4d 115 M 109 6d 155 m
78 4e 116 N 110 6e 156 n
79 4f 117 o] 111 6f 157 o
80 50 120 P 112 70 160 P
81 51 121 Q 113 71 161 q
82 52 122 R 114 72 162 r
83 53 123 $ 115 73 163 s
84 54 124 s 116 74 164 t
85 55 125 u 117 75 165 u
86 56 126 \ 118 76 166 v
87 57 127 w 119 77 167 w
88 58 130 X 120 78 170 X
89 59 131 Y 121 79 171 y
90 Sa 132 y 4 122 7a 172 z
91 Sb 133 [ 123 7b 173 {
92 5c 134 X 124 7c 174 |
93 5d 135 ] 125 7d 175 }
94 Se 136 A 126 7e 176 »
95 5f 137 i 127 7f 177 DEL
www.alpharithms.com

int main(){

char'cl c2:
cIh=0"a

c2

pr

LICH!
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getchar() / putchar()

. : int main(){
int main(OK

int main(){

ThitNelrc?2:

printf("Inputl :
cl = getchar();

putchar(cl);
putchar('\n");

printf("Input2 : /

c2 = getchar();
putchar(c2);

return 0;

)

I cIvc?

printf("Inputl : "
cl = getchar(Q);

putchar(cl);
putchar('\n");

getchar();

printf("Input2 : "
c2 = getchar();

putchar(c2);

return 0;

char sclyc2:
printf (" Inputl : *):
scanf("%c",&cl) ;
printf(*%c\n® cl);

printf("Input2 : ");
scanf(" %c",&c2);
printf("%c\n",c2);

return 0;

* ol & (\n)DHK| B IH Off = X
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getchar() / putchar()

while((c = getchar()) != EOF)
putchar(c) ;
return 0;

/* 3

abcdefg
abcdefg
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switch&=




H2l st ghS 7HX| = case (2 0| =510 A ES S=XIHo=Z A
o M2 ZAUSHGIE 7HX|= case (7t 8iCHH default © 2 0| S350 TXH o= A
o break =& PHM switchE WA LIZ, break”t gictH ofell 228 =AM =2 Al

char c;
switch( ¢ = getchar()){
case 'a’

printf(“a\n");
break;

//switch <= H-xU7F

// else if

case ‘a' + 1 :
printf("b\n");
break;
case 99 :
printf("c\n");
break;
default :

printf("not a or b or c\n");
break;
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